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PSYCHOLOGY
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

The somatosensory projection area is found in :
(A) Occipital lobe (B) Parietal lobe
(C) Frontal lobe (D) Temporal lobe

In random reinforcement schedule food will be given to rat after :
(A) Simultaneously completing 4 trials and 2 minutes
B) Completing 4 trials and 2 minutes one after the other

) Once after completing 2 minutes and after 4 trials alternatively
D) Randomly after completion of any of the two

Assertion (A) : Different emotions are associated with activity in different parts of
the brain.

Reason (R) : Different emotions appear to be linked to specific genetic structures.
Code :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
Match List-I with List-II :
List-1 List-11

(Type of measurement) (Technique used for item development)
(a) Attitude measurement (i)  Criterion - referenced technique
(b) Behavioural assessment (i) Guttman scale
(c) Ability testing (iii) Critical incident technique
(d) Personality measurement (iv) Factor analysis

(v) Content analysis

Code :

(@ (b)) (o (@
(A) @ @) @) (V)
(B) @v) (v) () (i)
(© @) @Gv) G @
(D) @) (@) @) G
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5.  Obsession is to compulsion as :
(A) normal is to abnormal (B) behaviour is to cognition
(C) thinking is to feeling (D) thought to action

6. The amount of material retained in various methods from highest to lowest can be
arranged in the following manner :

(A) recall, recognition, relearning (B) recognition, relearning, recall
(C) relearning, recall, recognition (D) recognition, recall, relearning

7.  Dreams hide our desires through :
(A) identification, condensation, displacement
(B) identification, compensation, symbolism
(C) condensation, displacement, symbolism
(D) compensation, condensation, displacement

8.  Information from the senses is carried in a given order. Arrange the following in that
order :

(i)  Straight into brain

(i) Via medulla oblongata
(iii) Via spinal cord

(iv) Via thalamus

Code :
A) @ (v) () (i) (B) (@) @) @) ()
Q) @) @@ @v) (@) D) Gv) @ @) (i)

9.  Arrange in order the following stages of GAS as given by Selye :
(i) Ilness and death
(i) Exhaustion
(iii) Alarm reaction
(iv) Resistance

Code :
(A) (v) (D) @3 () ®B) @ @) @) ()
Q) @) (@v) (@) (@) (D) @) @ (@v) (i)

10. Arrange the following tests with respect to their ability to elicit projective responses
from low to high :

(i) Sentence Completion Test

(i) Rorschach Inkblot Test

(iii) Rosenweig Picture Frustration Study

(iv) Thematic Apperception Test

Code :

A) G @) G 0 B O G @) )
(€ (@v) @) @ (i) (D) @@ @ (@v) (i)

J— 0407 4
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11. Assertion (A) : Individuals with dissonance are typically hospitalized.

Reason (R) : People experience psychological discomfort when attitudes and
behaviour are inconsistent

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

12. Match List-I with List-II :
List-1 List-11

) Oversimplified concepts
b) Rule of thumb

( (i) stereotype
( (
() Mental grouping of a set of objects (iii
( (

ii)  prototype

) heuristics
d) An example that corresponds most iv) concept
closely to the notion of a concept

(v) archetypes

Code :
(@ @ (o @
(A) @ @) (@v) ()
B @ () (@) (@v)
(© @ @) ) @
(D) @) @) ) @
13.  Which one of the following is not a kind of Neuron ?
(A) Sensory neurons (B) Motor neurons
(C) Inter neurons (D) Associative neurons

14. A part of the brain involved in attention, sleep and arousal is :
(A) Reticular activating system (B) Thalamus
(C) Hypothalamus (D) Medulla oblongata

15.  Which of the following are true in case of instrumental conditioning ?
(i) Response is prior to reward
(i) No specific stimulus produces response
(iii) Formerly neutral stimulus decides response
(iv) Reward seeking behaviour is learned

Code :
(A) (i), (iii) and (iv) (B) (i), (ii) and (iv)
(©) (i), (ii) and (iii) (D) (i), (iii) and (iv)

J—0407 6
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12. G-I 1 GEI-11 o 91 GAferd i
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(c) TS & Ueh He ol AHMEH GErhm (i) feaRfes
(d) T IR S T GIHT hl IR (iv) I
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(v) sTifehersa

e

(@ B (© @
(A) (@) (i) (iv) (i)
(B) @ (v) (i) (@)
(© ) @) (v) @)
(D) @) @@ v @

13. fr=AifeRd o @ 1 e Hifvret 1 YR & § 2
(A) Hidfeen dfert i (B) URM™ dfsreRt whifdrent
(C) 3R dfsreht hifereht (D) WA dfehT IRl

14. TRaSh 1 Tk AW S 319, fgT 9o SEae o S ©
(A) e |fHa gomel (B) damH
(C) TEMdTHY (D) Wgal Eaier

15. Afifes stqeiem & fag Freifera § @1 @2 €2
(i)  STIFHA THR & Tl B 7|
(i) oI T U TIHAT ol 4al T |
(i) T T Teh T2 IETh FIFHAT A 0 ALt 2|
(iv) YRR UM 1 TR HEm gaTl T |
C
(A) (), (i) 3R (iv) (B) (i), (ii) 3R (iv)

Q) (i), (ii) 3T (i) (D) (ii), (iii) 3R (iv)
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16. Match List-I with List-1I :

List-1 List-II
ERS:
S5a
5 = 3
(a) g gs (i)  Variable ratio
Time
ERS:
sg8
23 .. . .
by Eg: (i) Fixed ratio
[SEE=Re]
Time
EEY:
ge¢
(©) é &8 (iii) Variable interval
S-S
Time
£ot
d) & =& (iv) Fixed interval
OET
Time
Code :
(@ (b)) (o (@
(A) @) (@) @v) ()
(B) @) @) @ G
© Gv) @ (D) ()
(D) @) (@v) @) @)
17. Assertion (A) : People’s appraisals of situations lead to the subjective experience of
emotions.
Reason (R) : People’s appraisal of general physiological arousal associated with

the emotions do not result in subjective experience.
Code :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

J—0407 8
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18.

19.

20.

21.

22.

23.

The basic traits that make up the human personality according to Cattell are known
as :

(A) Cardinal Traits (B) Central Traits
(C) Source Traits (D) Surface Traits

If you have to develop a test for a new concept which is the best method of ensuring the
validity of that test ?

(i) Content (i) Empirical / Criterion-related
(iii) Convergent and discriminant (iv) Factorial
(A) (i) and (iii) (B) (i) and (ii) (C) (iii) and (iv) (D) (ii) and (iii)

Positively and negatively worded items are used in a test to avoid the following bias :
(A) Social desirability response set ~ (B) Acquiescence response set

(C) Motivation distortion tendency (D) Over self-critical altitude

Assertion (A) : There is no relationship between language and thought.
Reason (R) : Thought is possible without language.

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

External validity of research means that :

(A) Other researchers also agree with the results

(B) The participants agree with the results
(C) The results were obtained in several studies
(D) The results are true to situations outside the research setting

A set of ideas that fit together to provide a perspective on some aspect of the world is
known as :

(A) Hypothesis (B) Theory (C) Law (D) Variable

J — 0407 10



18.

19.

20.

21.

22.

23.

e % STTIR AT AThed 1 I HE Tt SR I €
(A) 9EME e (B) hsral Tferor
(©) @ it (D) =T Mo
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(i) sFeamvfas/ fFeru—arert

(iii) ST den faveew

A EELEIE

(A) (i) T (i) (B) (i) T (ii) (C)  (ii) T (iv) (D) (i) T (i)

Teh qUET01 § GRRIcHe a2 Tehiceh & | fafed wenien o1 swim fFefafed game | o=@ &
WWW%:

(A) WIS sl stea fo=m (B)  uf=m s fa=ma
(C) efiren faeqor ygfa (D) 31fa et sifgfa

HIT (A) : 9T SR FaA & S DI TR T ¥
HIOT (R) : T fom s 3 oft dorg 1

e

(A) (A) R (R) ¥ § iR (R) W = T (A) F |
(B) (A) 3R (R) @ ¥ T (R) F& & 7 & (A) F |
(C) (A)¥A 8 U] (R) 3T9A B |

(D) (A) 3T9A § W (R) T |

Sie Y ST ST o aead ©

(A) o vigeRdl W TR § T B

(B) I H N o aret ufRoni & Tewd &

(C) ufomm &g AezAl § 9 ST

(D) TRoTH SY-uRfEea § e it qunel § 9 9 S §

AR g o Tohelt a1 R U 8 STy S0 o foT foami o1 e S T S § WG 9, &
FEAQ

(A) YRS (B) Tas= (C) = (D) ufEa
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24. Assertion (A) : In pattern recognition people take longer to differentiate between
similar letters than dissimilar letters.

Reason (R) : Similar letters have many similar features.
Code :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

25. Match the items of List-I with those of List-1I :
List-1 List-11

(a) Long term memory (i) Chunking
(b) Sensory memory (ii) Entry of information from external world
(c) Attention (i) Information is stored after evaluation
(d) Short-term memory (iv) Viewing people in a busy market
Code
(@ () (o (@)
A) @ @) @ 6
B ) @ @)
© @) @) 6 @)
D) (v @) @ ()
26. Psychologists use a wide variety of research methods. Which one is best ?
(A) Experimental study (B) Correlational study
(C) Case studies (D) There is no single best method

27. The main Neurotransmitters are :
(i)  Acetylcholine
(i) Dopamine
(iii) Mescaline

(iv) Noradrenaline

Code :

(A) (1), (i), (iil) and (iv)
(B) (i) and (ii)

(©) (), (ii) and (iii)

(D) (i), (ii) and (iv)

J—0407 12



24.

25.

26.

27.
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Fe:
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28.

29.

30.

31.

32.

Error variance can be minimized by :

(A) Matching participants

(B) Proper measurement of the dependent variable
(C) Holding independent variable constant
(D) Randomization

Assertion (A) : Other responses to frustration are possible besides aggression.
Reason (R) : Frustration is not the only cause of aggression.

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Match List-I with List-II to indicate which process is predominantly related to which
task :

List-1 List-11

(a) Multiple choice test (i) Reproduction
(b) Listing the places related to Gandhi (i) Reconstruction
(c) Sharing the story of a cinema (iii) Recall
(d) Essay type test (iv) Recognition
Code :

(@ (b)) (o (@
(A) @) () @) @)
(B) @) (@) (v) ()
(© @) @) @ )
(D) Gv) (D) @) ()

“Tall people tend to weigh more than short people”. State what kind of correlation it
is ?

(A) Negative (B) Positive (C) Zero (D) No correlation

Fleeting facial expressions that may reveal individuals true emotional reactions to events
or situations, are known as :

(A) Facial expressions (B) Facial management technique

(C) Macro expressions (D) Micro expressions

J—0407 14



28.

29.

30.

31.

32.

e T i FreAifeRa g0 = fora ST Ehe %
(A) FfauRTl <1 e (B) aTfHa uiacd o fafeerq wmaq
(C) oFIfHa Iiecd 1 feer wa (D) ATgesehiehTTl

HIUT (A) : AHTERAT ¥ e =1 wfafpand «ff et & wfa et ¥
THIT (R) : i, ATl Tl THAT HRI e € |

Fe:

(A) (A) 3R (R) ¥ € 3R (R) H&l =& § (A) 1|
(B) (A) 3R (R) ¥ ¥ T (R) Tl =0 & ¥ (A) H |
() (A) ¥ T W/ (R) 39A |

(D) (A) 3T ¢ W (R) A T |

g IqM & fau S =t e forg &l & @y @ e € -1 0 gEi-11 % @ gafera
IS |

ge-1

Sgforehedl qdaro

et | S Tl o1 AW fora
Teh TEAHT <t e YA
[GECIREC R

TS T AT AR SRt 3THeT 31fe uit B1d €17 At R g% fRe o o Yedrery § 2
(A) HOTHE  (B) HATHSD Q) A (D) I HeHwY el §

T H AT seerdt i S sesit a1 ufifeafaat % wfa arfas @aftes gfateaet w5
3T A B, ol Had © :

(A) =& feafear (B) <Xt sifeafd w1 rafierd &t i aahih
(C) =& sAfyeafear (D) ge&u aifeafear
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33.

34.

35.

36

37.

38.

39.

Match List-I with List-1I :
List-1 List-11

(a) Cognitive development (i) Kohlberg
(b) Psychological development (i) Piaget
(c) Contact comfort (iii) Erickson
(d) Post conventional reasoning (iv) Harlow
(v) Gilligan

Code :

(@ (b () (@
@) () (v 0 G
® O G )
© () @) (v @
D) (v @ @) )

Which theory says that the greater the gap between what we expect and what actually
does happen in a situation, the greater the resulting arousal ?

(A) Discrepancy-evaluation theory (B) Action and Reaction theory
(C) Opponent-process theory (D) Two-factor theory

A test item that is retained on the basis of its ability to make required distinctions is
dependent on approach to test construction. :

(A) Theoretical (B) Rational (C) Empirical (D) Qualitative

A preconceived assumption that the problem will be solved by means of a particular
method or set of procedures is called :

(A) Functional set (B) Rule set
(C) Operational set (D) Mental set

Human ear responds to frequencies between the range of :
(A) 20 to 20,000 Hz (B) 20 to 2000 Hz
(C) 20 to 200 Hz (D) 200 to 20,000 Hz

Which one of the following is generally not used in the assessment of intelligence ?
(A) Group Tests (B) Non-Verbal Tests
(C) Projective Tests (D) Individual Tests

Guilford has divided intelligence at second order level :
(A) Into two parts (B) Into 120 parts

(C) Into more than a dozen parts (D) Into seven parts
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33.

34.

35.

36.

37.

38.

39.

-1 qe FE-11 1 Gaferd Hifs

gel-1 gait-11
(a) HAFTH fashE (i)  IEeH
(b) FAEEISE foeh (i) ™
(c) HE¥igE (iti) SRR
d) W framias 9= (iv) el

(v) fafeam=

&< :

(@ B (© @
(A) @) (@Gv) @ (i)
B) @ (i) (v) (i)
Q) @) () (@) ()
(D) @v) () (@) (v)

H | fagT g% Fed © & g omen iR ww <t g8 uRkfefa ® oxqa: 0 2 8, 3 o
I &% 1Y SHY I IEYA h! HE el B |

(A) Tommfa qeaiea fagm=a (B) @ qen wfdthan fagra

(C) fauda ufpan fagr (D) fg da foagr

Tk JU&T0T WehieT ST 27U 9IS e ohi STYAT &THAT & STUR W TR R fou i € o adeqon
frmfor & 39 R R B R

(A) Jgif<ew (B) difeheh Q) sfeamufas (D) TOTcHR

T GEfreed foem for s e fodiw fafy =an ffvea wefadil & gorsmht st wedt §, =i wed
g:

(A) THEES fo=md (B) from fo=ma

(C) AT formamy (D) WAES foa=md
AT 1 FH AR i for # HagTeia 2 ¢ -

(A) 20 ¥ 20,000 &S (B) 20 ¥ 2000 &
(C) 20 ¥ 200 T (D) 200 ¥ 20,000 T
frefafea § 9 &9 @1 gfg are § gmm=rasn S9E § 6 R S ?
(A) THE 9d& (B)  3Tenfwrent Tderor
(C) w&ToT gdarm (D) =BT qhe

firewe 7 dfhe 31t TR W fg 1 fova wRenl | 9 872
(A) < H (B) 120 H (C) TH TS § ot s1ferr | (D) 9Td 9l |

J—0407 17 P.T.O.



40.

41.

42.

43.

Assertion (A) : Basic research has no human relevance.

Reason (R) :
Code :
(A)

(
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Assertion (A) :

Applied research has impacts on problems in the real life.

Both (A) and (R) are true and (R) is the correct explanation of (A)
B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

During the incubation stage of problem solving the individual

withdraws from the task for a period, and is then able to find the

solution.
Reason (R) :

with his friends.
Code :
(A)

(
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

During this period the individual intensively discusses the problem

Both (A) and (R) are true and (R) is the correct explanation of (A)
B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

There are five subtests in performance battery of WAIS. Identify the correct order in

which they are administered :

(A) Digit Symbol (DS), Picture Completion (PC), Block Design (BD),
Object Assembly (OS), Picture Arrangement (PA).
(B) PC, BD, OS, PA, DS

(C) DS, PC, BD, PA, OS
(D) 0S, PC, PA, BD, DS

Match List-I with List-II :
List-1
(a) Non Parametric ANOVA
(b)  Factorial Design
(c) Standard Error of mean difference
(d) Nominal Variables

Code :

(@ () (o (@)
(A) (@) @) @) (@)
(B) (i) @) (@v) (@)
Q) @) @) @G (@)
(D) (v) (D) (D) (i)
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List-11

Tuckey’s Test

t - Test
Interaction effect

Friedman Test
XZ



40.

41.

42.

43.

HIUT (A) : Hifcrw I HY DT AFAT JEHATRAT T §)

HIUT (R) : STIHANTICHS ST T ATEdfaeh e ot TSt R Jo9re Iedl § |
g

A) (A) #R(R) T € 3R (R) & =0 © (A) F

B) (A) 3R (R) ¥ ¥ W (R) T A T & (A) H

C) (A) 9 T T (R) 38 2|

(
(
(
(D) (A) 39 T T (R) T ¥

)
)

HIT (A) : IS FHIYH & A FId | s w1 T 9 999 & folw ge o § ik a9
U 1 & U A | Ihel 81 Sl § |

WHIOT (R) : 39 7afy § =afe o1 fisii o @ wwen & R # vefirargee famet e g1

Fe:

A) (A) 3R (R) = 3R (R) Tl =A@ § (A) H |

B) (A) 3R (R) ¥ § T (R) Wl =41 &l € (A) Hl |

C) (A) ¥ T T (R) 318 T

D) (A) 39 § W (R) 9 T

~"

(
(
(
(

WAIS & T7oares wirefor Sl ® ol Squdieror €1 k1 WRNTad et o1 Tl HH Teaid |

(A) fefsie famse (DS), fut FeedlsF (PC), sk TSz (BD), 3lesise. e/wiell (OS),
faerr siisHe (PA)

(B) PC, BD, OS, PA, DS

(C) DS, PC, BD, PA, OS

(D) OS, PC, PA, BD, DS

-1 qe -1 1 gHfad i

gei-1 -11
(a) SMEfaIR ANOVA (i) R 1 THE
(b) HIHIA YR (i) t- T
(c) UHEHM MR b AFek Jf& (i) 3fd:Fran hem
(d) s afew (iv) TRIeHA Tdem

(v) X2

e

SoZ>
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44.

45.

Assertion (A) : People having Thyroid gland problems suffer from poor health.
Reason (R) : People do not take Iodized salt.

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
Match List-I with List-II :
List-1 List-11
(Hypothalamus) (Functions)
(a) Ventromedial hypothalamus (i) Over eating
(b) Lateral hypothalamus (i) Starvation
(c) Lateral hypothalamic damage (iii) Starting of eating centre
(d) Ventromedial hypothalamic damage (iv) Stopping of eating centre
Code :
(@ () (o (@)
(A) Gv) () G @)
(B) @) (@) (@) ()
© @ () @@ @)
(D) G) (@) @ G

Read the passage below and answer the questions (46-50) that follow based on your
understanding of the passage :

Of all the factors that influence behaviour and attitudes, society and culture are
the most comprehensive. Most people rarely or never escape these influences. Cultural
and social norms prescribe both the large and small conditions of our life. Cultural
values and norms come to govern individual behaviour through the process known as
Socialization. For most children in most cultures, the first agent of socialization is the
family, which teaches the society’s basic modes of behaviour. Institutions like schools
are also early agents of socialization and train children in some of the basic skills required
for survival in the society. Both the family and the school transmit some of the culture’s
dominant values and practices, whether these consist of monotheism or polytheism,
competition or cooperation, monogamy or polygamy, achievement or traditionalism.

Without the process of socialization, societies would not endure in any consistent
form. Socialization makes it likely that each new generation, though different in some
ways, will still bear a strong resemblance to previous generations. It increases the
probability that you will have more in common with your parents than with someone
from another country. The anthropologist Ralph Linton was referring to socialization
when he said , “The individual is only an incident in the life history of his society.”
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44.

45.
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HIUT (A) : T i A1 enEAS Ul R T ST T Wi T Bl ¢ |
ST (R) : AN ARSI H T9h el @ |

g

(A) (A) 3R (R) ¥ ¥ 3R (R) W& =& © (A) i |

(B) (A) 3R (R) @ ¥ W (R) F&l = 7 ¥ (A) F |

(C) (A) ¥ € T (R) TEA T

(D) (A) ¥ & T (R) §A &1

-1 3T GA-11 Sl gHferd S

qai-1 g1

( ETETIEeTHT ) (@1%)
(a) digeiifere WS @) TSl deH
(b) ISEAG R FR DGR (ii) Tg[ﬂjf\aﬁw
() <= TEUTHE Hi &fd (i) 9@ F= A ARA
(d) dfeaa aedider =t afd (iv) @ % 1 T
&<

(@ (b)) (© (@)
(A) (v) () @) @)
(B) (i) (i) (iv) (
© ) (@) @G (v)
(D) () @) (@) @)

TR 3gUT @i UIZW 79T o<t 13 G911 (46-50) ST 3T 3G+1 THT & SITEMT GTHITT |

fgfaal 3R SHaer @l yaifad w1 ot A SRl § HHS IR S&hid qad et
I | SAfHeRie Al TR gEl | o9 TR U 8 | Fikepiaeh SR FrHIfSeh W SAN St
i B AR TS T @ h! M3l bl FHiRa hwd €1 Aihiaw Jod IR AHE SAfh & Fa8R
I FHTSHRT Bt UFHa gR1 Fifa oed €1 siferenier Sepfaai o Sifesmisn sl ¥q WIS
1 TEE B URER ¥ S THIS % eiyd aeR &l w1 fawma ¥ faener S geemnd of
TSR % AR i § SR o=l ol 5 SR hierel H Jrferd e & S st § sfiferd
W 3 Tavash ¥ | IR IR faemerm <M1 & dehia % W@ gedi qen gensii sl 9 & €,
e THYERATE Bl A1 Sgeadle, Tedn a1 Yfaiifia, Tenfoarg a1 sgfoems, Suafer a1 wiauared |

HHTSIRT 1 Y61 o o1 TSt g feer & 9ror 21 o Tehd | FHTSTHRT I8 H9d
T T T ¢ Wel, o orelf o firet @ o off, weet i difedl % wner Yoot wHar Wt €
I8 3 W1 ! GHTE1 sf@l <1 & for o119 o1 Aran-fan & Wi Stfuss T Wad €, eTiead
Tordll gH = ot ol | | T fereT ek ol o HHISHR i SR & Hehd R 9
9 IR0 el ot ¢ A ST FHS % sfaer™ H A T wen gl

P.T.O.



46. This passage shows that behaviour is influenced by :
(A) Geneology (B) Cultural-social norms

(C) Educational norms (D) Work environment

47. Which one of the following is the most important agent of socialization ?
(A) Family (B) School

(C) Community (D) Society

48. Which one of the following is not transmitted socio-culturally ?
A) Competition or cooperation

B

~—

Monogamy or polygamy

C) Achievement or traditionalism

(
(
(
(D) Dominant or recessive

49. Which one of the following is important for consistency in societies ?
(A) Globalization (B) Socialization

(C) Modernization (D) Urbanization

50. According to Ralph Linton the place of a person in the history of his society is :

(A) Less important (B) A non issue
(C) Most important (D) Dependent on society
-00o0-
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46.

47.

48.

49.

50.

350 I Yef¥ia ot © for =rer fre=ifena gro genfoa & @ -
(A) deImEret (B) HIEhidsh-HHISIh HIeh
(C) fek AFw (D) T TEE

freAiferd B | I OISR 1 o Heequl &d 2
(A) HRER (B) fermmera
(C) wH™E (D) HEN

frifera B A 1 ARSI High{der M ¥ Taia &l 2ar g2
(A)  HfRfiTar =1 Hem (B) U foamg =1 =g foare
(C) 3Iucfsdr AT qLoarfe (D) oI AT ST

oSt § feeran v F=ifRd o | A eyl €2
(A)  HSTHR (B) WHTSIehoT

(C)  smYfTehIshuT (D) TR

Teh foled o TTER T s 1 3Th FHS H T ¢

(A) hH e B | (B)  STTEfiTeR T |
(C) T FEEqUl T | (D) T W R T
-00o0-
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